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Q) If sinf = \/gcose,—fc<9< 0, then 6 1s equal to

(a) “Z" (b) ‘g’”‘ © “g @ 55‘
V4

Sing = V3 Coso

fong = 1o -n - (/ |

(///) il
‘9:(7’*1) (——71‘<e<0) b

J Bo
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EXAMS

Q) If sin6=+/3 cos0,-mt<0< 0, then O is equal to
—OT —4m 41T OTC
o b) = 4 2*

(a) R (b) ; (c) . (d) R

Ans: (b)
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Consider the following numbers :

(PYQ-2024-11)
I. tan22.5° /
II. cot22.5° _/

III. tan22.-5*-cot22.5°

o 29 5° = x/?f-/

q Q
How many of the above are irrational / rm'ﬁ&‘f)&/
numbers? / \/Tq'
¢ —~
(a) None of3d b= L = v__l
(b} Only one ﬁ+/

) Only two_/

(d) All three (\[,?’,H‘) - (ﬁ_[) = 3 — Tah\m)a/

~—"
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Consider the following numbers :
. tan22.5°
II. cot22.5°

III. tan22.-5*-cot22.5°

How many of the above are irrational
numbers?

(a) None
(b} Only one
(¢} Only two

(d} All three

Ans: (c)
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Q) If the angles of a triangle are 30° and 45° and the included

side 1s (\/5 + 1) cm, then what 1s the area of the triangle ?

(a) (\/5 +1) cm? (b) (\/-3_ +3) cm?

(©) %(\/g+l)cm2 (d) 2(\/§+1) cm?2

/ .
b AP, E ;{-[\fzﬂ) )
foango® = _X___
Vat]~1
3?/——?/94—/7(’—76 1 - x 7\/§+f’l:\@%
(Y3 # -4 - 7
«—/v)-(\/;ﬂ) — o prx Vapr e (B
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EXAMS

Q) If the angles of a triangle are 30° and 45° and the included

side 1s (\/5 - 1) cm, then what 1s the area of the triangle ?

(a) (\/5 +1) cm? (b) (\/5 +3) cm?

(©) %(\/E'i'l) cm? (d) 2(\/§+1) cm?

Ans: (c)
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[ /1-sinx + /1 +sinzx |
Q) cot™ \/ sTnx \/ s?nx 1s equal to
\/1—31nx—\/1+smx

(a) m—x (b) 21— x
© 3 @ - osgx = 082~

Cosx +1 = qeos*xf,

- 2 —
(\//~.<'/'nz f W) -~ 4+ o?ﬁ—ginzx - ——

_/

: . Gnax = A40X 08X
0 ' - len% L] f
(1-stox) = (14 $in7) A= ] ImA ST

g ]
A (stx) ._._—-/9?60:027(/9, 3
_ M W S Ay S tfy

— 9 91
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Jsmaf | ! x/z)
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r\/l—sinx+\/1+sinx—|

-1 .

Q) cot L/l—sinx—\/l+Sinlesequalto
(&) T—x (b) 21— x
© 5 @ m-

Ans: (d)
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. If 4sin"!x+cos!x=n, then what is (PYQ-2024-1I)

sin"! x +4cos™ ! x equal to?

fa) n/2
(b) m 'fffr) ’/Z + I - Sl = F
\_y
(c) 311;’2/. |
(d) 2n 3emly -~ /N
o
ﬂ\'l)"/g[ ol :Z]__:
b
Y = L
A
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. If 4sin"!x+cos!x=n, then what is (PYQ-2024-1I)
-]
sin

x+dcos” ! x equal to?
@ =n/f2

(b) =

fc} 3n/2

(d) 2n

Ans: (c)
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What is cntg{scc_l2}+tan2{cnsec"13}
equal to?

@ 11/12

(b) 11/24 /

Y @fﬁ/ J_

(PYQ-2024-11)

1 7(01)1( fan ”/(ﬁ?)

(©) 7/24
d 1/24 h

(secq =

(—E—) & J’ e =

G’
O? L
1
[4)" +(76)
3 ol
R T
Y

o
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What is cotZ(sec™!2)+tan?(cosec™!3) (PYQ-2024-11)
equal to?

@ 11/12
(b} 11/24
(c) 7/24

(d} 1/24

Ans: (b)
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Q) What is the value of the following?

L

6 7
(@—= / (b) — )
(0)1(73 (d)lg ot TA+ wf 7B = &f [(_AB’/d)
7 F A+ B
f gl I8
00/@7' ()_g,)-f-(‘ﬂ'f &)]
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Q) What is the value of the following?

Ly

6 7
(@) E (b) ﬁ
(©) = (d) =

Ans: (a)
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If

Z
cnsEl s[——ﬁ —Hj cus[—ﬂ?]

(PYQ-2024-11)

—p0
then what is x + y+z equal to? b = 6o
fa) -1 .
v s A= T oS (f0°
9 9

c) 1 CoS 6o 0S40 0
(d) 3

X = (‘z = £ - /(

4 ) L+ 427 =
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If

Z
EDEB s[——m—ﬂj cns(—n+ﬂ)

then what is x + y+z equal to?

fa) -1
(b) O
(c) 1
(d 3

Ans: (b)
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If ptan(@-30°)=gtan(6+120°), then (PYQ-2024-11)
what is (p+q) /(p - q) equal to?

(@) sin20 Vo fm’) : o
(b) cos28 K / fan [9"39) =/ ( 'HQE))
fc) 2sin 26 { ;

0= 60°f

(d) zcusza/ |

b+ 4
_
"=
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If ptan(@-30°)=gtan(6+120°), then
what is (p+q) /(p - q) equal to?

(a) sin 28
{b) cos 26
fe) 2sin 20

(d) 2cos 206

Ans: (d)
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Q)If 7sin 0 + 24 cos O = 25, then what is
the value of (sin© + cos0)?

26 6 31
1 =6 S 3t
(@) (b) e () - (d) o
/
s 9 494534 =425 =2°
smb = T <
ay 7
wsp = 4 fn0 £ 089 = 2L

45 5
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Q)If 7sin 0 + 24 cos O = 25, then what is
the value of (sin© + cos0)?

@) 1 0L ©f @

25 5 25

Ans: (d)
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Q) If A+ B= g, what are the greatest and the least

values of cos A cos B, respectively?

(a) 1/2 and 0 (b) 0 and —1/2
(¢) 1/2 and —1{2/ (d) 0and-1
WS A S ( T _ ,4)
o
@
005 A S/ (Max. volue

—_— — mox- volue '-‘J—/

3 o
-/-(o?.c’/anwM): ,L | 0/ Sing = 1
9 q M« valw - "'__./..

4

Mm. Wi —s -—-f)
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EXAMS

Q) If A+ B= g, what are the greatest and the least

values of cos A cos B, respectively?
(a) 1/2 and 0 (b) 0 and —1/2
(c) 1/2 and —1/2 (d) 0and-1

Ans: (c)
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Q) If {x+[_’):12t- and B + vy =o, then which one of the

following 1s correct?

(@) 2tanf +tany=tana (b) tanﬁ+2tany=t§_na~/
(¢ tanPB+tany=tano (d)2((tanP + tany)=tana

7%\1)(/8+ 2() = fand
7‘0\7)/% 'fom?/ = fand — mwﬁhr
(Fana eoff ) =
'1(000/8—)L ’fan]/ + 740\7)')(‘ - ‘famf
740\1)/8 4 RfanY o ’ﬁ\hos

N—_——r——

Ktp - T
/B o
“fab/g - fo«n(% —Dﬁ)
- 097Lr§

EEEEE
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Q) If 0&+B:g and B + vy =o, then which one of the

following 1s correct?

(@ 2tanPf+tany=tana (b) tanPf + 2tany=tano
(¢ tanB+tany=tana (d)2(tanf +tany)=tanao

Ans: (b)
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Q) What 1s the value of tan 15° tan 195°?

(a) 7- 43 v
(c) 7+ 23

fom /5° fan (/800 +/5°)

Fan? 15 °

(4-43)" ° -0

b) 7+ 443
(d) 7+ 63

= [~ ]
Rk
[+ 1 ‘/E”
Vs
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Q) What 1s the value of tan 15° tan 195°?
(a) 7- 43 b) 7+ 443
(©) 7+ 2V3 (d) 7+ 63

Ans: (a)
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Q)If cos O = % (x + l) ,then é (xz + lz) 1s equal to

X X
(2) sin 20 (b) cos26
(¢c) tan 26 (d) sec26
1t Lo (z—f,ﬁ)2 —q | rH L 4 wt'e -4
12 1 ZQ«

-

;L(w+,f_$): Fo0s’o - /
Jeoso (H—é) T s

Aoty - éﬁz'f—xﬁ@)‘f'v? /
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EXAMS

Q)If cos 6 = % (x 4 l) ,then % (xz + l) is equal to

X x2
(a) sin 26 (b) cos 26
(¢c) tan 26 (d) sec26

Ans: (b)
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Q) Let 0< x< % then (sec2x — tan2x) equals

(a) tan(x—%] (b) tan(%—x]‘/
(c) tan[x%—%] (d) tan2 [x—l—g]
[~ 9o _ | —  dfonx )
: _ = |~ Tan
(21 [+fm*x = .;(/ fm@/‘ T fanx
t — fanx (1+ fan)(I- font)

R _ L _x
4 Fanty 7(0‘!0([{ )

—

—
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Q) Let 0< x< % then (sec2x — tan2x) equals

w ) o (5]

(c) tan [x + %] (d) tan” [x + %]

Ans: (b)
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Q) What is the value of :

—
L sl

cos{tan_l{tan[l?Tn]H? Tam ( IB/T} _ ’Z‘an( o J%)

|

(a) ——2 ®) 0O ~ 7407) (%):-’/

1
© 7 (d) % C’Dﬂ['fan“/(ﬂf)]

= (00X

o8 (-2)
"4 % |
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Q) What is the value of :

ol o2}

(@) - ) 0
2

1 1
© 75 d —
V2 Nz

Ans: (c)
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Q) What is the value of tan (7 %) ?

(a) J6+3-J2+2 (b) J6 +8+J2+2
©) V6-J3+2-2 @ JV6+J3+4/2-2

)
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Q) What is the value of tan (7 %) ?

(8) 6 +~J8 -2+ 2 () /6 + /342 + 2
© V6-v3+v2-2 (@ V6+V3+v2-2

Ans: (c)

EXAMS
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Q) The value of sin 36° sin 72° sin 108° sin 144° is equal

to
(a) 1/4 (b) 1/16 (c) 3/4 \ (d) 5/16
[80'~ 9y 80— 36°

@ ) Q 0
0nap’ dna’ainy’ 9m3b

shy” 36" Sn' 2" s (—-36") - w@(/o&v)
0 ©
L (436 sinp)” tog 36° — (8 /08’
7 s 96" + @872

=
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Q) The value of sin 36° sin 72° sin 108° sin 144° is equal
to
(@) 1/4 (b) 1/16 (c) 3/4 (d) 5/16

Ans: (d)
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Q)Ifcos 0 + sec 8 =k, then what is the value of sin® O — tan® 07
(@) 4—k  (B)4—-Kk (o) K¥-4 (@ K+2
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Q)Ifcos 0 + sec 8 =k, then what is the value of sin® O — tan® 07
(@) 4—k  (B)4—-Kk (o) K¥-4 (@ K+2

Ans: (b)
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EXAMS

Q) Ifthe sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@ 90° (b) 120°
(c) 135° (d) 150°
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EXAMS

Q) Ifthe sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@) 90° (b) 120°
(c) 135° (d) 150°

Ans: (b)
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